EARAZROREIERT — 2 N—XBISY —F 2012598248 (B) 7E#EIH

Ll > % 3m% 23716 5AKE ‘ (%E] W ‘ (mEE] — | 4 (&) 12000 B
[A&4] 1 7% :1,000,000  ~ 23 :300,000 . 33:180,000  ~ 4 #:120,000 @ .~ 5 7 :100,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
117l 9| F—LTL— # 3 ’gﬁg*gﬁmi 1:16.3 221|405 — | 1 | 505 {é?fﬂﬁi %ﬂ’%%)
: =) - =
RHARIN= NS BTFT/ T D | S Tk
L:Tv TRy b B hTI—k (-8) ®Il -
3 o | K2 EF 3 g%ilo% 1:16.8 9-10-8 | 39.2| — 4 440 E;ﬁ— (J118%)
. 7E
QTR 4TI N BiALT—KtA b e G0 1305 kg
417110 DY i 3 E%B%‘E 1(:11;32.)9 3-3-2 |40.9| - 12 | 486 %\Egg (3#87n)
R:BLYTHF— Biafe1UH (=3) FNalie
s5lgl11|7Z7v¥andtb # 3| Ho 1(:31;4.)0 567 |40.1| — | 5 | 433 Eg;g (#a5)
R:F15>8) Bz hLTST— (+4) BEH FHi
6l5l5|a—nrr—2 f 3 sﬁ“_%;IE/% 1:(137).7 10-6-6 | 40.8| — | 9 | 481 i?ﬁl;gg*—m (11es)
L HLTAT v — BiAZIIT—Va O | e =
7l8l12| PV ET FU— 3 /5{;*65 (11:118/.20> 455 |@7| — | 3 <4+620) ﬁﬁg%ﬁg%)
LT ReAYT vy B2 /1L —Y HOE R
SEy RTIAX # 3 ;ﬁ%ij& (12:118/.25) 12-11-11 |40.7| — | 2 | 470 22;5] (#ats)
R:hTA=2Y B:Za-—TLNAy b ) | zm Fa
FaFtr H o3 ;i;f‘%%?k 1(:31/%7 7-9-10 |41.3| — | 7 | 516 iff—;?% *( AHE)
LSWN—F v —h BIALTLYKA—K 15 | fipais
{FaRTH f 3 Ef%*'lé 1(:11/82.)8 1-1-3 [43.1| — | 8 | 409 é;‘f? ?(ﬂa%)
QT ETATT Y IR B NI T IO G0 S moaus
SEFLHINS X 43 ﬁﬁiﬁ 1:(119>.o 8-8-9 M7 - 11 462 g%gﬁ% (#a18)
RF25 N BssFLA-YrR | s
ZZXA by T # 3 gig?géﬂ 1(:;/%1 1-12-12 |41.1| — | 6 | 488 §;§§ m(ﬁ.gf%)
R by THe AU 0 laE =%
@ 1—F—@&BIEf
13—7—
Aol=5r= 6,9,10,12,11,1,7,8,2,5,3,4
G§a=7r= 6,9,10,1,12,(5,11),8,7,2,4,3
41—+ — 9,10,6,1,12,5,11,2,8,7,4,3
[ RN
BB 9 10| [ 71 K 1-9 940 | | £ Z 1-7 3,620/ | | 3xEHE 1-2-9 8,410/
8 B 9 100M 2-9 300M B 7-1 4,030 JEH 9-1-2 24,420
1 1,390 1-2 4,070 B E 1-9 3,350
2 160 ] 9-1 2,970/

ABICOVWTRDTEEERROODE. TR LIV,




